8 | 6 | 5 | 4 3 2 | 1
REVISIONS
D NOTES -] [ DIBCAPTION ONTE PPROWL
36704 B | meveRer | [ GRT |
NOTES: [ REV TILE_BLOCK 10, 17]_esc_|
1. IMPACT RESISTANT GLAZING OPTION— IMPACT 13 GA HORIZ ANGLE 32177 REV_PER PCR 1‘01 119 MQ

RESISTANT GLAZING SYSTEM MAY BE INSTALLED IN
TOP OR INTERMEDIATE SECTION (WTH OR WITHOUT
DECORATIVE INSERTS). GLAZING SHALL BE 1/4°
POLYCARBONATE. MAXIMUM GLAZING DIMENSIONS
SHALL BE 12.41° x 18.53" CUTOUT, FASTENED WITH
#8 X 1° SMS: 3X ALONG THE HORIZONTAL AND 2X
ALONG THE VERTICAL. SEE DETAIL E ON SHEET 2
FOR ASSEMBLY DETAILS.

2. NON-IMPACT REISTANT GLAZING OPTION —
.090° MINIMUM SSB GLAZING IN MOLDED FRAMES
SCREWED TOGETHER WITH A MINIMUM OF (10)
#8x1” SCREWS INSTALLED IN TOP OR INTERMEDIATE
SECTION (WITH OR WITHOUT DECORATIVE INSERTS)
MEETS UNIFORM STATIC WIND PRESSURES SHOWN
ON THIS DRAWING. GLAZING SHALL HAVE A
MAXIMUM HEIGHT OF 10.68" AND A MAXIMUM
LENGTH OF 16.94". GLAZING IS NOT IMPACT
RESISTANT AND DOES NOT MEET THE
REQUIREMENTS FOR WIND—-BORNE DEBRIS REGIONS.

3. VINYL OR WOOD DOOR STOP NAILED A MAXIMUM
OF 6° 0.C. MUST OVERLAP TOP AND BOTH ENDS
OF PANELS MINIMUM 7/16° TO MEET NEGATIVE
PRESSURES.

4. KEY LOCK, SLIDE LOCKS, OR OPERATOR
REQUIRED.

5. LOUVER OPTION — .040" MINIMUM LOUVERS IN
MOLDED FRAMES SCREWED TOGETHER WITH A
MINIMUM OF (10) #8x1” SCREWS INSTALLED IN THE
BOTTOM SECTION. LOUVERS ARE NOT IMPACT
RESISTANT AND DO NOT MEET THE REQUIREMENTS
FOR WIND—-BORNE DEBRIS REGIONS.

6. SECTION STEEL TO HAVE A MINIMUM 26 GA
THICKNESS.

7. THE DESIGN OF THE SUPPORTING STRUCTURAL
ELEMENTS SHALL BE THE RESPONSIBILITY OF THE
PROFESSIONAL OF RECORD FOR THE BUILDING OR
STRUCTURE AND IN ACCORDANCE WITH CURRENT
ggm:g CODES FOR THE LOADS UISTED ON THIS

8. DOOR JAMB TO BE MINIMUM 2x4 STRUCTURAL
GRADE LUMBER. REFER TO JAMB CONNECTION
SUPPLEMENT FOR ATTACHMENT TO SUPPORTING
STRUCTURE.

9. FOR LOW HEAD ROOM LIFT CONDITIONS, TOP
BRACKET SHALL BE A 13 GA LHR 7/4 TOP
BRACKET WITH A MINIMUM OF (3) 1/4—14x7/8"
SELF DRILLING CRIMPTITE SCREWS IN LIEU OF THE
BRACKET SHOWN ON THIS DRAWING. U-BAR ON
TOP SECTION SHALL BE INSTALLED ON TOP OF LHR
TOP BRACKETS.

10. IN UEU OF THE SHORT PANEL EMBOSSMENT
SHOWN, LONG PANEL EMBOSSMENT, Vi2 PANEL
EMBOSSMENT OR NO EMBOSSMENT MAY BE USED.

N
13 GA FLAG ANGLE
N

15 GA MIN HORIZ
TRACK N

5/16x1-5/8"
LAG SCREW (MIN AN
AS SHOWN)
(4) 1/4-20x9/16" LARGE —|
HEAD TRACK BOLTS OR
1/4-20 STUDS WITH
1/4-20 HEX NUTS

15 GA MIN VERT —|
TRACK

1/4~20x9/16" TRACK—""|
BOLT AND 1/4—20 HEX
NUT AT EACH JB—US
JAMB BRACKET LOCATION

5/16x1-5/8" LAG
'SCREW A/T EAH N\
JAMB BRACKET

15 GA STlFFENED—/
JAMB BRACKETS
SCHELOULE FOR

SEE
QUANITY, LOCATION,
AND

KEY LOCK OR SLIDE LOG(—/
EACH END (NOT REQUIRED
WITH OPERATOR — SEE
NOTE 4). SUDE LOCK
SHOWN FOR CLARITY

NOTE:  (4) SECTION SOLID
DOOR SHOWN. SEE SHEET
2 FOR U-BAR LOCATIONS
ON DOORS WITH OTHER
SECTION QUANTITIES AND
SEE NOTES 1 AND 2 THIS
SHEET FOR GLAZING
OPTIONS.

NOTE: 18’
SHEET 2 FOR HINGE AND STILE
LOCATIONS ON OTHER SIZE DOORS.

SHOWN.

SEE

COMPLIES WITH THE REQUIREMENTS OF IBC/IRC 2018.

STATIC PRESSURE RATINGS APPROVED SIZES
MAX WIDTH: 18’
DESIGN PRESSURE(PSF): 34.4/-38.3 [oo—mrc—r0
IMPACT/CYCUIC RATED: YES MAX SECTION HEIGHT: 217

JAMB_BRACKET SCHEDULE

. JAM LOCA
DOOR | NO. OF | BRACKETS BRACKETS MEASURED FROM BOTTOM
HEIGHT [SECTIONS| (FacH JaMB) OF TRACK (ALL DIMENSIONS * 2°)
6-6" 4 7 o ,E—QSZ; 10: JB-US), 21-3/4 -B-US 9" (JB8-US), 48" (yB-US), 57-1/4" (8
7-0"| 4 7 JUB=US), 10" (JB—US), 21—3/4" (JB—US), 29-3/4" (JB—US), 42 2 G
7=6" 5 ] £~ (JB=US), 10 —US), = —US), B
8-0"] 5 9 "(J8-US), 10" (JB-US), 21-3/4" (JB-US), 29-3/4 (JB—-US), 39
> 5-0 %‘ﬂﬁ"m—ow

NOTE:.
(v8-US) FOLLOWING DIMENSION DENOTES SLOTTED JAMB BRACKET ATTACHED TO TRACK WITH 1/4—20x9/16" TRACK BOLT AND NUT AS SHOWN ABOVE.

ALL DOORS GREATER THAN 8' IN HEIGHT REQUIRE USE OF CONTINUOUS WALL ANGLE. SEE SUPPLEMENT TRACK CHART FOR DETAILS.

SUPERIMPOSED DESIGN PRESSURE
LOADS ON SUPPORTING STRUCTURE

SERIES 170-177, 180-187, 1400, 1440 1540

A
\
& N
g D)
5 * " * 0'
gxi 1xY
;,; NIS g
e
S, 117868 a7
0 O, &2
W% LoenseOt S
\\ S\S"/.'.ENH.... O.:
o Rk e
y//}/}’)l MOUNT HOPE, OHIO
FL PE 77945
TX PE 117868

PROFESSIONAL ENGINEER'S SEAL PROVIDED ONLY FOR
VERIFICATION OF WIND LOAD CONSTRUCTION DETALS.

THE DRAWINGS AND ALL OTHER INFORMATION CONTAINED HEREIN ARE THE AND_ PROPRIETARY PROPERTY OF OVERHEAD DOOR CORPORATION AND TS AFFILIATED COMPANIES. THIS DRAWING
DOOR | DOOR | niFoRM LOAD EACH JAMB (PLF) AND INFORMATION, IN WHOLE OR IN_PART, MAY NOT BE COPIED IN ANY MANNER OR DISCLOSED TO ANYONE WITHOUT THE PRIOR WRITTEN CONSENT OF OVERHEAD DOOR CORPORATION. NO DISCLOSURE OF
WIDTH | HEIGHT mvormsmmmmmﬂmfsmmmsAmmyrnmmusnmmmmm WRITTEN_CONSENT OF OVERHEAD CORPORATION,
TOLERANOES UNLESS OTHERGSE SPEDIRID FINISH | e Gonuine. 1he Crigimd. | wex | oW | OReSS WRE
17-0"| ALL +202.4/-325.6 6 m— N/A | Ty, BN [oese SERIES 170, 180WL
18'-0"| ALL +309.6/-344.7 UNDER .251 +.004/—.003 | NUMBERS: % .25 3 G. TAYLOR 10/15/10 WS7. 18' MAX WIDE
.251 TO 500 +.006/-.003| x £ [UNT OF | == D o :
Y8100 48 vie3 | OVER .S00 +.008/— x + 03 | MEASURE M. SAwicki | 10/25/10
J00C £ 010 NONE [erom on &= D—411052
TS S5 oN *+ 1/18 miGLes: = & | EACH T. CLARK 4/12/2 o NTS. Jemrior 2
8 6 5 4 | 3 | 2 1



[> notes
13 GA ROLLER SUDE ATTACHED TO
BRACKET WTH 5/16—18 BOLT & NUT
IN CENTER SLOT AND 1/4—20x9/16" ONTER STLE & INTERMEDATE HNGE LOCATIONS
TRACK BOLT & 1/4—20 HEX NUT
THROUGH ANY TWO ALIGNING HO ! - |
L-BAR LOGATINS
(2) 13 GA COMMERGIAL " 'A ] ; l
:Rr?rgigmm (4) 1 14 7/a (6) SECTION DOORS WITH
X @) O L) e |
SELF DRILLING CRIMPTITE Il ; 5 5 s : H : 4l (16) 3" 18 GA 80 Ks| U-BARS
ADD (2) 1/4—14x7/8"
sa.r(m)zlufuc cRm/PnTE SCREWS DETAIL A
(INSIDE OF EACH INSIDE END HINGH | ' (7) SECTION DOORS WITH
17

2° STEEL ROLLER WITH 9" GRADE

1144 OR EQUIVALENT STEM AND v
7/16" PUSHNUT AT EACH ROLLER

LOCATION. 1/4" MAX BETWEEN

PUSHNUT AND BRACKET OR HING!

14 GA WIDE BODY END
HINGE ATTACHED WITH (4)
1/4—14x5/8" SELF TAPPING
SCREWS'

14 GA WIDE BODY
INTERMEDIATE HINGE
ATTACHED WITH (4)
1/4—14x5/8" SELF
TAPPING SCREWS

12 GA EXTENSION BRACKET
ATTACHED WITH (3) 1/4-14x7/8'
SELF DRILLING CRIMPTITE SCREWS

(2 THROUGH STRUT AND BRACK

14 GA BOTTOM BRACKET
ATTACHED WITH (2)
1/4-14x7/8" SELF DRILLING
CRIMPTITE SCREWS THROUGH
STRUT AND BOTTOM BRACKET
AND (1) 1/4—14x5/8" SELF
DRILLNG TAMPER RESISTANT

1 (14) 3° 18 GA 80 KSI U-BARS
LOCATED AS SHOWN

INTERIOR FRAME

*\ SHEETMETAL SCREW

EXTERIOR ;
Extem ——/(

-
.
's.0.0¢

}1/4' POLYCARBONATE

(8) 3" 18 GA 80 kS U_BARS

ATTACH U-BAR WITH
(2) 1/4-14x7/8" SELF
DRILLING CRIMPTITE m
AT EACH STILE LOCATION, TYP

(6) SECTION DOORS W
(12) 3° 18 GA 80 KSI U-BARS
LOCATED AS SHOWN

(5) SECTION DOORS Wi
(10) 3" 18 GA 80 KSI U-BARS
LOCATED AS SHOWN

(4) SECTION DOORS WITH
OCATED AS SHOWN

\\\\\\\

2 DWAYNE J KORNISI—'I.j
’f 1» 117868 i 7
Ry
. O, .7 o é =z
. 6\ -Q-E.. .5--- '&O :
p ‘\\ IONAL G
A AR

}/// ] /)DI 4576 COUNTY ROAD 160
MOUNT HOPE, OHIO

Sl S Y
Fo % ~Je
4 . ‘e, .0

Zw s ., * )
* s L% I’

DWAYNE J. KORNISH, PE

FL PE 77945
T™X PE 117868

PROFESSIONAL ENGINEER'S SEAL PROVIDED ONLY FOR

) — VERIFICATION OF WIND LOAD CONSTRUCTION DETALS.
TOLERAHCZD The Genuineg. The (i
o Sl g [ [ e e Tl S
SERIES 170-177, 180-187, 1400, 1440 1540 pprgny lomn w00 vovymons | koo | ey vone W Skinoig D—411052
TS TS5 on +1/16 moles: &5 | EACH T. CLARK 4/12/21 fon  NTS. Jemr 2w 2 |
8 I 7 I 6 I [ 4 I 3 I I 1



